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1. +T
(1) #EHI T
RIE - 291) m3 160
KEHEIDY m3 10. 000
(2)%+T
P m3 36
BEL HEXEW) 531 m3 67. 000
HRL B<1. Om m3 3.000
BB L m3 6. 000
BB m3 3.000
(3) I LI T
At b f 160. 000
EIELS B m 6. 000
(4)VE¥% LA T
R E m3 185
A (b—2X) m3 185. 000
(=25 R wus:H G s m3 185
2. WEDRET
(1) HEEMEUE L T
a7 ) — MEEDTEE L il ¢ 2 m3 33
EHLE IR T AT 7 b LS i 109
SHLERR GOl ays J—h m 70
AR i T AT 7l b m 96
(2)BEFEEN - J0BE
X T i ) n3 33. 000
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X i T AT 7 b m3 4. 400
WAL Gy ) n3 33. 000
AL TAZ Vb m3 4. 400

. PIRT

(1) BBITHHEL 2 5 URIK
ar7Y—h 0 ck=21N/mm2 m3 16. 000
fitzs FRAHEIEY m 132
53571 SD295A D13 ton 0.978
H Hufk 274F9)747=, t=10mm m 6
1E7KAR FF200%5 m 11.0
BLarvzU—h o ck=18N/mm2 m3 2. 800
fitzs KlLarz—h i 3.2
St RC-40 t=150 nf 55

(2)BBTHHIEL 145 LA
a7 Y—h 0 ck=21N/mm2 m3 23. 000
fitzs FRAHEIEY m 131
5371 SD295A D13 ton 1.007
H ik 274F9)747=, t=10mm m 7
1E7KAR FF200%5 m 12.1
BLarvzU—h o ck=18N/mm2 m3 3.500
fitzs KlLarz—h i 3.0
St RC-40 t=150 nf 70

(3) MUIBERE T
a7 Y—h o ck=18N/mm2 m3 16. 200
fitzs HEEED m 146
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BK 5 4 D10%150%150 nf 65. 200
H Hufk 274F9)747=, t=10mm m 1
17K R FF200%5 m 7.3
a7 Y — ML D16, L=100 L 368. 000
WRE T > A1 — D13H %N 368. 000
=L SD295 ton 0.137
4. KEEAHHE T
(1)EREIRT VP
BT VP, ¢ 40 m 0. 200
EYEAT VP, ¢ 75 m 0. 700
EYEAT VP, ¢ 100 m 1. 500
EYEAT VP, ¢ 150 m 1. 200
(2) BRI T ;;?%7;15%%1000 T-2
25T B1500%1.1000 T-2 375kg L34 3.000
R Z THEAF 300kgLh F400kgld T e 3.000
H HiAR = LFEWAR =10 i 1.100
2 755 D16 SD295 ton 0. 702
(3)4—7—1=KREIHL
ar7Y—h o ck=21N/mm2 m3 1. 000
fitzs FRAHEIEY m 6.3
Z3i7) SD295A D13 ton 0. 060
=L SD295A D13 ton 0.001
H Hufk 274F9)747=, t=10mm m 1
XL 2L T AR— ZZm3 0. 800
5. HKEEIRT
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(1) T A7 7V ML
LEga (HE - B i 109
g (BUE - BFH) i 109
6. XL
(1) REE R T
AR () Mt - R WAL (L) m3 147. 000
B4 m3 147. 000
x> — f 539. 000
REFEIY m3 51. 000
REBHL m3 51. 000
it C-40 t=100 nf 294. 000
B IA T nf 392. 000
(2) et
A2 38 5 A i B A 30
(3)KFEL
KRBT =X 1.000
7. ZOfh
—FEEE LAl
1. BT ER
(1) HEIHTRRBR A
IR HrER X 1. 000
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